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#include<stdio.h>
int main()

#pragma xmp nodes p(3)
#pragma xmp template t{30)
#pragma xmp distribute t(block) onto p

double a[30][30];
#pragmaxmp align a[*1[j] with t(j)
#pragma xmp shadow a[0][1]
£2* B EERRE <
#pragma xmp reflect (a)
inti,j;
[ =T TR SR <=/
#pragma xmp loop on t(j)

for{ j=0;j<30:}+)

for( i=0;i<30;i++)

alillj) = alilljl+alill-Ll+alip+a);

return 0;
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#includesstdio.h>
int main(}{
#pragma xmp nodes p(3,3)
#pragma xmp template £(30,30)
#pragma xmp distribute t{block block) onto p
double a[30][30];
#pragma xmp align a[i][j] with t[ij)
#pragma xmp shadow a[1][1]
/7 B B ERRE T/
#pragma xmp reflect (a)
[22 T TR S8 =/
intij;
#pragma xmp loop (i,j) on t(ij)

for( j=0; j<30 ;j++)

for( i=0; <30 ;i++)

alilfj] = alilfl+a0-11[+allj+ 1 +ali+gHalg-1:

return 0;
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#include <stdio.h=

int main(}

{

int N=100;

double A[N], B[N];

#pragmaxmp nodes P(4)

#pragmaxmp template TA(0:N-1)
#pragmaxmp template TB{0:N-1)
#pragmaxmp distribute TA[block) onto P
#pragmaxmp distribute TB(cyclic) ento P
#pragmaxmp align Afi] with TA(i}
#pragmaxmp align B[] with TB(i)

#pragmaxmp gmove
BL:I=ALL
return 0;

}
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P{1} P(2) P(3) P(4)
#include<stdio.h>

int main()

{

int N=100,M=100;

double A[N][M], B[N][M];

#pragmaxmp nodes P(4)

#pragmaxmp template T1{0:M-1)
#pragma xmp template T2{0:N-1)
#pragma xmp distribute T1(block) onto P
#pragmaxmp distribute T2(block) onto P
#pragma xmp align A[*][i] with T1({i)
#pragma xmp align B[jI[*] with T2(j)

#pragma xmp gmove
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#include<stdio.h=
int main()

int a[4] = {6,8,4,4%;

int b[4] = {3,8,5,6};

double A[22], B[22];

#pragma xmp nodes P(4)

#pragma xmp template TA(0:21)

#pragma xmp template TB(0:21)

#pragma xmp distribute TA(gblock{a)) onto P
#pragma xmp distribute TB(ghlock{b)) onto P
#pragma xmp align Afi] with TA(i)
#pragma xmp align B[i] with TB(i)

#pragma xmp gmove
BLI=ALL
return 0;

}
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#include<stdio.hx

int main(}

{

int M=100,N=100;

double A[N][M], B[M];

#pragma xmp nodes P(4)

#pragmaxmp template T2(0:N-1)
#pragmaxmp distribute T2(block) onto P
#pragmaxmp align A[i[*] with T2(i)
#pragmaxmp align B[i] with T2(i)

intk=1;

#pragma xmp gmove
BL:] = ALKI:L

return 0;

}
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